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9.2 552

N given  X= AX YD, we Yien owe

X-AX =D
= IX-AX=D
7 (1-A%=D

note Toak we cam do this since  1-A iwverible.

= (1-N (1A ks (- RY'D
= IX =Y = (1- /)\\'\ ) as desived -

() A= [V O 3 2\ _ {-2 -2
B (0\ "(0 —\\ R (o 2 o der(1-K) = 22+ 2:0 = -4

using e metnod from exdva execcise ; we e compure (1~ AYY
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Finally , we Lovnp\,@re for X
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Ye derevmmomt o B = (‘2 \) W gen Yoy dex ()= V1 — V2 = -\
\

B - ‘\'(Lf?): (;.4)

since B i iwartible, Yhem the solwhon o BX = (g) IS Wne -

R iy iwevhilde, amd ks verse is

Nawnely , X = (%) .
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Tous, ARYT)= AT+ AT

(b) A(’}S{) = A Qe (1"\)
[ (2

1)

Oy Qe

1

Taus, AX) = A(AX)D.




Exeveise L

)
To show Wt B is the ivverse of A, we womt AB=BA= (o \

AR = <0\ b), \ A b
N od-loc \ -¢ o

_ \ (aok—\oc ~0x\o*rok\o>
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similawly, we compute BA.
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W follows Yhat B ie the inverse of A
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